
#include <iostream>
#include <cstdio>
#include <vector>
#include <map>
using namespace std;

struct gh
{
    int x;
    int y;
};
struct hand
{
    int even_min_ind;
    int even_min2_ind;
    int uneven_min_ind;
    int uneven_min2_ind;
};
gh min_mass(map<int,int> mass)
{
    gh example;
    int flag=0;
    for (const auto& kv : mass)
    {
        if(flag==0)
        {
            example.x=kv.first;
            example.y=kv.second;
            flag=1;
        }
        else if(flag==1 && kv.second<example.y)
        {
            example.x=kv.first;
            example.y=kv.second;
        }
    }
    return example;
}
hand help(map<int,int> mass_raz,vector<int> mass)
{
    //int even_min,uneven_min,even_min2,uneven_min2;
    //int even_min_ind,uneven_min_ind,even_min2_ind,uneven_min2_ind;
    int flag_e=0,flag_u=0,flag_e2=0,flag_u2=0;
    hand example;

    for (const auto& kv : mass_raz)
    {
        if(flag_e==0 && min(mass[kv.first],mass[kv.first+1])%2==0)
        {
            example.even_min_ind=kv.first;
            flag_e=1;
        }
        else if(flag_e==1 && min(mass[kv.first],mass[kv.first+1])%2==0)
        {
            if(mass_raz[example.even_min_ind]>mass_raz[kv.first])
            {
                example.even_min2_ind=example.even_min_ind;
                example.even_min_ind=kv.first;
            }
            else
            {
                if(flag_e2==0)
                {
                    example.even_min2_ind=kv.first;
                    flag_e2=1;
                }
                else if(flag_e2==1 && mass_raz[example.even_min_ind]<=mass_raz[kv.first] && mass_raz[example.even_min2_ind]>mass_raz[kv.first])
                {
                    example.even_min2_ind=kv.first;
                }
            }
        }
        if(flag_u==0 && min(mass[kv.first],mass[kv.first+1])%2==1)
        {
            example.uneven_min_ind=kv.first;
            flag_u=1;
        }
        else if(flag_u==1 && min(mass[kv.first],mass[kv.first+1])%2==1)
        {
            if(mass_raz[example.uneven_min_ind]>mass_raz[kv.first])
            {
                example.uneven_min2_ind=example.uneven_min_ind;
                example.uneven_min_ind=kv.first;
            }
            else
            {
                if(flag_u2==0)
                {
                    example.uneven_min2_ind=kv.first;
                    flag_u2=1;
                }
                else if(flag_u2==1 && mass_raz[example.uneven_min_ind]<=mass_raz[kv.first] && mass_raz[example.uneven_min2_ind]>mass_raz[kv.first])
                {
                    example.uneven_min2_ind=kv.first;
                }
            }
        }
    }
    return example;
}

void nechet()
{
    FILE* fp=fopen("27-B.txt","r");
    int N;
    fscanf(fp,"%d",&N);
    cout<<"N="<<N<<endl;
    vector<int> mass;
    map<int, int> mass_raz;
    int x,y,num=0,num_chetny=0;
    int u=0;
    while(fscanf(fp,"%d %d",&x,&y)!=-1)
    {
        //cout<<x<<" "<<y<<endl;
        mass.push_back(x);
        mass.push_back(y);
        if(abs(x-y)%2==1)
        {
            mass_raz[u]=abs(x-y);
        }
        u+=2;
    }
    fclose(fp);
    int temp;
    int k;
    int v;
    int flag=0;
    //cout<<"test1"<<endl;
    for(int i=0;i<mass.size()/2;i++)
    {
        temp=max(mass[2*i],mass[2*i+1]);
        num+=temp;
        if(temp%2==0)
        {
            num_chetny++;
        }
    }
    cout<<"num_max="<<num<<endl;
    if(num_chetny>=N/2+1 && num%2==0)
    {
        cout<<"num1="<<num<<endl;

        //cout<<"num_chetny="<<num_chetny<<endl;
        //cout<<"num_nechetny="<<N-num_chetny<<endl;
    }
    else if(N-num_chetny>=N/2+1 && num%2==1)
    {
        cout<<"num2="<<num<<endl;
    }
    else
    {
        int num1=num, num2=num;
        gh example;
        hand soul;
        soul=help(mass_raz,mass);
        //cout<<soul.even_min2_ind<<" "<<soul.even_min_ind<<" "<<soul.uneven_min2_ind<<" "<<soul.uneven_min_ind<<endl;

        if(abs(num_chetny-(N-num_chetny))>=2)
        {
            example=min_mass(mass_raz);
            num-=max(mass[example.x],mass[example.x+1]);
            num+=min(mass[example.x],mass[example.x+1]);
            cout<<"num3="<<num<<endl;
        }
        else
        {
            //cout<<"test2"<<endl;
            example=min_mass(mass_raz);
            //num-=max(mass[example.x],mass[example.x+1]);
            //num+=min(mass[example.x],mass[example.x+1]);
            if(num_chetny>N-num_chetny && min(mass[example.x],mass[example.x+1])%2==0)
            {
                num-=max(mass[example.x],mass[example.x+1]);
                num+=min(mass[example.x],mass[example.x+1]);
                cout<<"num4="<<num<<endl;
            }
            else if(num_chetny<N-num_chetny && min(mass[example.x],mass[example.x+1])%2==1)
            {
                num-=max(mass[example.x],mass[example.x+1]);
                num+=min(mass[example.x],mass[example.x+1]);
                cout<<"num5="<<num<<endl;
            }
            else if(num_chetny<N-num_chetny && min(mass[example.x],mass[example.x+1])%2==0)
            {
                //cout<<"test3"<<endl;
                num1-=max(mass[soul.uneven_min_ind],mass[soul.uneven_min_ind+1]);
                num1+=min(mass[soul.uneven_min_ind],mass[soul.uneven_min_ind+1]);
                //cout<<"num6 num1="<<num1<<endl;
                //cout<<mass[soul.uneven_min_ind]<<" "<<mass[soul.uneven_min_ind+1]<<" "<<abs(mass[soul.uneven_min_ind]-mass[soul.uneven_min_ind+1])<<endl;

                num2-=max(mass[soul.even_min_ind],mass[soul.even_min_ind+1]);
                num2+=min(mass[soul.even_min_ind],mass[soul.even_min_ind+1]);
                //cout<<"fist step num2="<<num2<<endl;
                //cout<<mass[soul.even_min_ind]<<" "<<mass[soul.even_min_ind+1]<<" "<<abs(mass[soul.even_min_ind]-mass[soul.even_min_ind+1])<<endl;

                num2-=max(mass[soul.even_min2_ind],mass[soul.even_min2_ind+1]);
                num2+=min(mass[soul.even_min2_ind],mass[soul.even_min2_ind+1]);
                //cout<<"second step num2="<<num2<<endl;
                //cout<<mass[soul.even_min2_ind]<<" "<<mass[soul.even_min2_ind+1]<<" "<<abs(mass[soul.even_min2_ind]-mass[soul.even_min2_ind+1])<<endl;
            }
            else if(num_chetny>N-num_chetny && min(mass[example.x],mass[example.x+1])%2==1)
            {
                //cout<<"test4"<<endl;
                num1-=max(mass[soul.even_min_ind],mass[soul.even_min_ind+1]);
                num1+=min(mass[soul.even_min_ind],mass[soul.even_min_ind+1]);

                num2-=max(mass[soul.uneven_min_ind],mass[soul.uneven_min_ind+1]);
                num2+=min(mass[soul.uneven_min_ind],mass[soul.uneven_min_ind+1]);
                num2-=max(mass[soul.uneven_min2_ind],mass[soul.uneven_min2_ind+1]);
                num2+=min(mass[soul.uneven_min2_ind],mass[soul.uneven_min2_ind+1]);
            }
            if(num1>num2)
            {
                cout<<"num6="<<num1<<endl;
            }
            else
            {
                cout<<"num7="<<num2<<endl;
            }
        }
    }
}

int main()
{
    //cout << "Hello world!" << endl;
    //FILE* fp=fopen("asdf.txt","w");
    //fclose(fp);
    nechet();
    //return 0;
}
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